BRAEBZROMELOKRE (RIGHFFRMEAELE (1000mLLE) 1) (AI#E3-2)

5| 2he | BORS s ma|emen| B N pEaa SRR S5 B4 =
1|BERRE— BRESS | Har o —rE | 2 S61.3.1( 1,728 iR E BHEZERERRYELEE
2|BEREE BRESS | Har o —rE | 2 H18.1.1| 1472 iR E BHEZERERRYEREE
J|EME= BRERNS | o>y U—brE | 3 | HI311.1| 1485 R E BHEZERERRYEREE
4| B¥[E 55 Y EREHE SEEth 2 H10.3.1| 1,263 it AL FiE BEZEREBRRYELEE
5|2t EREES SEEth 2 S51.1.1| 1,151 H22 BERE |EADSE A |BEZEREBEREELEE
6| 5% E e EREES SEEth 2 $58.3.1( 1,405 it FiE BEZEREBRRYUELEE
7| BRI R ERNESS | Sk 0)—bE | 2 S59.3.1| 1,898 H13 | HHiHER#% FE BHEZERERRYEREE
8| KA BRESS | Har o —rE | 2 $63.3.1| 1,405 iR E BHEZERERRYEREE
9| KA BRESS | oo —rE | 2 H1.2.1| 1,227 iR E BHEZERERRYEREE
10| 4LpE EREES SEEth 1 H7.3.1| 1,263 it FiE BEZEREBRRYELEE
11| BRI B ERESS SEEth 1 S423.1| 1,356 H21 [BERE |EADSE A |BEZESEBEREELEE
12| BT ERESS SEEth 1 H175.1| 1,263 it =L FiE BEZEREBRRYUELEE
13| BR % EREES SEEth 2 S50.3.1| 1,306| H10 | IBTHER%E |(BEDSHE A |BEZESEBEREELEE
14| BN ERESS SEEth 1 $53.3.1| 1,159 HO9 [BMERE [REODFEZR. ZRDH A |BEZEREEBEREELEE
15| 8% ERESS SEEth 1 H14.2.1| 1263 it FiE BEZEREHRRYUELEE
16| F 48 ERNEES SEEith 1 H13.2.1| 1,263 it FiE BEZEREHRRYELEE
17|%=%\ EREES SEEith 2 $49.3.1| 1,139 HO5 [BERE |EADSE A |BEZEREEBEREELEE
18| RIKIRE EREES SEEth 1 H10.3.1| 1,263 it FiE BEZEREBRRYELEE
19|7E4&dL EREHS BB & 2 S52.1.1| 1,389 H20 | [EHMEE%E |BAODOSE A |BEZEREBEREELEE
20(fE&m ERNEES SEEth 2 H3.3.1| 1,266 it FiE BEZEREHRRYELEE
21|fEdBE ERESS SEEth 1 $50.3.1| 1,185 H22 BERE |EADSE A |BEZEREBEREELEE
22|fEERE ERESS SEEth 1 | S44.12.1| 1,335| H22 BERE |EADSE A |BEZEREEREELEE
23|k:E EREES SEEith 1 S46.1.1| 1,267 HO5 [BERE |EADSE A |BEZESEBEREELEE
24| RIRF AL EREES B & 2 S4321| 1595 H21 BEEE [BADSE A |BEZEREEBEREELEE
25(4t E$ma EREES SEEth 2 $56.3.1| 1,111 H22 [BERE |EADSE A |BEZEREBEREELEE
26|BRAIE |BEREERNS SEEith 1 $55.3.1| 1,185 [BERE |EADSE A |BEZERSEEBEREELEE
27(7KiR EREES SEEth 1 S42.2.1| 1,600[ HO9 BERE |EADSE A |BEZESEEBEREELEE
28[/KiIRE% ERESS SEEth 1 H14.3.1 1263 it FiE BEZEREHRRYELEE
29[/KiRmE % EREHS BB & 1 S41.6.1| 1,025 H20 | [EHMEE%E |BAOSE A |BEZEREEBEREELEE
30|AIiR BRIEES B St 2 S54.3.1| 1,256 BEEE |[BADSE A |BEZESERBRBELEE




BEEZOMELOIKR (RIGEFKMAEEE (1000mLLL) 1) (AI#E3-2)
5| 2he | BORS s ma|emen| B N pEaa SRR S5 B4 =
31| & IF EREES SEEth 1 H8.3.1| 1,263 it FiE BEZEREHRRYUELEE
REEE ERESS SEEith 1 H233.1| 1263 it FiE BEZEREBRRYELEE
33| —PEE— ERNEES SEEth 2 H19.3.1 2372 it FiE BEZEREBRRYELEE
34(—EEZ ERESS SEEth 1 H8.10.1| 1,327 it FiE BEZEREBRRYELEE
35|fER EREES SEEith 2 S51.6.1| 1,168 HO8 [BERE |EADSE A |BEZESEBEREELEE
36| KE EREES SEEth 2 | s41.12.1| 1,261 H21 BERE |EADSE A |BEZEREEBEREELEE
37| FEx ERNEES SEEth 1 H15.2.1| 1,263 it FiE BEZEREBRRYELEE
38|=H EREES SEEith 1 H26.2.1| 1,263 it FiE BEZEREHRRYUELEE
39(=H BRERNS | M v U—bkE | 2 | H27.319] 1472 R R BHEZEREREYEREE
40| KARiE ERERNS | ka0 —hE | 3 H19.3.1] 1813 i E AR FE BEZERERREYELEE
41| KER ERESS SEEth 1 H7.3.1| 1,281 it =L FiE BEZEREBRRYELEE
42(1XH ERESS SEEth 2 S451.1| 1,087 [BERE |EADSE A |BEZEREBEREELEE
3|EFE ERNEES SEEith 1 H11.3.1| 1,263 it FiE BEZEREHRRYELEE
MERET ERESS SEEth 2 | s47.11.1| 1,164 HO7 [BERE |EADSE A |BEZEREEBEREELEE
45 =5 ERNEES SEEth 1 H19.2.1| 1,263 it FiE BEZEREBRRYELEE
46 | = B ERESS SEEth 1 H8.3.1| 1,280 it FiE BEZEREHRRYUELEE
47| K%8 EREES SEEith 1 $56.3.1| 1,086 H13 BERE |EADSE A |BEZESEEBEREELEE
48(1LH ERESS SEEith 2 S583.1| 1,360 H13 | #FHiHER#%E R BHEZERERRYELEE
HEH EREES SEEith 2 S50.6.1| 1,361 H23 BERE |EADSE A |BEZESEEBEREELEE
50/t EREHS BB & 1 $55.3.1| 1,068 HO9 BERE |EADSE A |BEZEREEBEREELEE
51|EaEE ERESS SEEth 2 $39.31| 1,089 H21 [BERE |EADSE A |BEZEREBEREELEE
52| BEKE ERNEES SEEith 1 H8.11.1| 1,263 it FiE BEZEREHRRYELEE
53| &R EREES SEEth 2 S413.1| 1,158 H21 BERE |BEADSE A |BEZESEBEREELEE
54| A #& EREES SEEth 2 S413.1| 1,059 H22 [BERE |EADSE A |BEZEREBEREELEE
55| AW ERNEES SEEth 2 H15.8.1 1,263 it FiE BEZEREHRRYUELEE
56| AT % ERESS SEEth 1 $55.3.1] 1,069 [BERE |BEADSE A |BEZERSEREELEE
57|%&mh BRIEES B &t 2 S433.1| 1,065 BEEE |[BADSE A |BEZESEBRBBELEE
58| KEP EREES SEEth 1 | S46.10.1| 1,104| HO3 BERE |EADSE A |BEZESEEBEREELEE
59|88k BRIEES BB Ef 2 S452.1| 1,142| H22 | IEHMEE%E |EAFEDOSHE A |BEZESEBRBRYELEE
60|RRMA EREES B & 2 S453.1( 1,192 H22 | [EHWEE%E |BAOSE A |BEZEREBEREELEE




BRAEBZROMELOKRE (RIGHFFRMEAELE (1000mLLE) 1)

(RI#E3-2)
2| 22 | BURS s ma|emen| B N pEaa SRR . 1L E i =
61|t2 BREES #EE 1 H13.2.1| 1533 i EEE HE (BEEELSETHEREELEE
62|f2ME T % BREES R EE 1 H11.3.1| 1,285 i EEE HE (BEEELSETHEREELEE
63|—F BREES R EE 2 | s45.10.1| 1,599 H21 EEEE |BADSE A  |BERESEHEREELEE




	別紙3-2　県有施設の耐震化の状況（県立高校体育館）

